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134 rigid beam AR i3 pin-connesied 31 end A 2nd carries 2 toad T at end B, a5 shown
i Fig. 1. The bearm is suppored at C and D by we identical pinned-cod colunns of
length L. Each columa s femtral rigidity B, What is the erivieal load Q.. {n
atner words, at what load Q.. does the systern collapse booause of Euler buckling of

the columns®) (20 4
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7)Use holr eircle 1o calewlate the siress siate of the stress element in Fig,. 2 if it 15
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a. Elastoplastic behavior

B Cunsture

¢ Fatigue strength

d. Catenary Cables

& (Five & eal lile example W architecture of * plane stress state™ behawior.
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a. Find the walye of Lhe deterninait *
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L. Calcuiate the partecolac zolution for ¥+ v =" whien x=0 y=2.




